2. ConMK IOKMHMHI OFUPJMIY 0ab3W KUIIMJIApPHU KATTUK HLUIAINra WyHanTupca,
alipuM KUIIIIapra akCuHYa, CAIONi TabCUp KypcaTaIu.

3. JlaBnar Xa3MHACHMHMHI Y3 BaKTWAA TYJJUPWINAINM, MaMJIAKaT XaJKWHHUHT
TypMyLIUAard MyTaHOCUOJMKHHA TabMUHJIANIN.

4. ConMK TYpJApUHHUHI KYIUIMTH JaBJaT HWKTHUCOAUETUHUHI PUBOXIAHUIIWHA
OenrniaManau.

5. KummmnapHuHT comukap Xakuaard GuKpiIapuHu KOoOUNH TOMOHTa Y3rapTHPHUII
COJIMKYWJIAPHUHT XaM Ba3u(pacuaup.

* Read the text and translate it into Uzbek in oral form. Write essay about your
country’s taxation system.

TEXT
THE GENERAL STRUCTURE OF THE TAX
SYSTEM IN THE UK

In any attempt to compare the incidence of taxes in different countries, it is
necessary first to look at the tax system as a whole. One must measure the total
burden of taxation in relation to a country’s economy and compare the balance of the
two main forms of taxation, direct (mainly personal taxes on income and, in Britain,
rates) and indirect ( e.g. taxation on the purchase or consumption of goods and
services)

Comparing the balance of direct and indirect taxes in any country gives the
insight into the psychology of taxation. Excessive direct taxation will appear to the
citizen to hurt his pocket more than when a similar sum is extracted from him by the
indirect method of taxing the goods he buys. Indirect taxation on a selected range of
goods does give a certain element of choice which direct taxation does not.
Comparison of the total weight of taxation in the UK with other countries shows that
ours is not the heaviest burden. Gross tax revenue of all kinds amounted to 31 per
cent of GNP in this country in 2004 but France (36 per cent), Germany (33 per cent),
Sweden (37 per cent) and Holland (33 per cent) all shoulder a heavier burden and
only in the US (26 per cent) is a significantly lower proportion of national output. In
fact, the UK is very close to the average in this respect, moreover the share of
taxation in GNP increased considerably less the UK between 1998-2004 than in the
other countries except West Germany and the US.

(from “Britain’s Taxes. Some International Comparisons”)

« GRAMMAR REVISION: The Sequences of Tenses
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Direct Speech Indirect Speech
(Y3namrupma rar) (xyuupma ram)
| am a student, he said. He said he was a student.
| have passed all the exams, He said he had passed all the
He said. exams.
I’ll be an economist, he added. He added he would be an

economist.

Will you be an economist too? he He asked if | would be an
asked. economist too.
When will you graduate from the Then he inquired when | would
University? he inquired. graduate from the University.

* Complete these sentences:

The newspaper said the rate of unemployment...
The author emphasized that official figures of...
We knew that the stock market...

The graph showed that wholesales had...

Media experts believed that electronics...

One of the students explained that...

¢ Read and translate the text “Income Taxes”. How is taxable income calculated
in different countries?

UNIT 17.

TEXT
INCOME TAXES

Taxes on income from earnings are the most obvious and immediate taxes
which most individuals pay. In most countries, the tax is progressive. The larger
one’s earnings, the higher the rate of tax is levied. A government usually fixes
allowances, which can be set against income before tax is payable. Tax is then levied
at higher rates as income rises up to a final top rate. There may be many bands, rising
increasingly from just a few per cent to rates up to 70% or 80% for the highest
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earners in some countries. For one year in the U.K. in the 1990s an additional tax
levy taxed the highest earners at more than 100%. This meant that the tax payer, as
well as losing the whole of his or her income after a particular point, also paid, in
effect, a levy on wealth. The tax at which the highest rate is paid by the individual is
known as the “marginal rate”. This is important when paying tax on income which
may be received gross (without the expenses being deducted).

In recent years governments have tried to simplify income taxes and take the
lowest earners out of tax equation altogether. There has also been a trend away from
direct taxes on income to indirect taxes, which are generally, though not entirely,
optional. All indirect taxes on a particular good or service are levied at one rate, and
are never progressive. Some items, which are regarded as necessities, are free of
indirect taxes in some countries.

Taxable income is not calculated in the same way in every country. A wide
range of income may or may not be subject to tax. There is a basic qualitative
difference in what income is liable to tax. Some countries have a global approach to
taxation. This means that an individual resident in a particular country pays tax in that
country on his or her income, wherever in the word it arises. For instance, an actor,
writer or even a businessman may have income in any one tax year from a number of
countries. Where he is resident in a country with global taxation he must declare all
his income to the tax authorities, who will then tax him on the total. The USA, the
UK and most advanced industrialized countries have global systems of taxation.

Other countries (Singapore and Malaysia are examples) have a territorial
system of tax. This means that income is only taxes in the country when it is
transferred there. For instance, if an individual has savings offshore, or dividends
from investments, and leaves that income offshore, it is not liable for tax.

Income tax may simply be paid to the central government. A pay-as-you-earn
system (PAYE), first originated in the UK, is being used by an increasing number of
countries. Its chief advantages is efficiency: as tax is deducted before salary or wages
are paid, avoiding payment is difficult. Furthermore, employers effectively become
unpaid tax collectors.

PAYE can operate only when the tax payer is employed by someone else. The
self-employed must pay directly. Some governments collect a basic amount through
PAYE, with a much larger proportion paid annually after the end of the tax year
when the individual’s tax form is submitted. Many governments offer some form of
PAYE to the self-employed, or at least impose it on lower-paid workers who might
have difficulty in finding a lump sum once a year.

Income tax is not always levied simply at a national level. The USA has state
and federal income taxes. Local income taxes are favored in some countries. Local
and national services have to be funded. The money may be paid for these by central
government from the total tax it rises, or by a local tax on property values, or sales, or
through a flat-rate head tax, as in the community charge. Income tax has the
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advantage over this: it is most directly related to ability to pay, but it is not popular
with the public. It is difficult, it must be admitted, to devise any tax which is popular,
but a flat-rate head tax, levied on earners and non-earners alike, is perhaps the least
popular. A flat-rate head tax, in contrast to progressive income tax, Is regressive,
most affecting those least able to pay.(from “Guide to international Finance” by Alen
M.)

Vocabulary list you may need

flat-rate head tax - Gearmmadras »KOH OOIINTa COJIHUK

progressive income tax — ycub 6opyBuM 1apomas COIUFU

ability to pay — Tynaii oM IMKOHHSTH

local income taxes — maxayuii Japomas CONMUKIApH

tax form is submitted — conuk GaHKacHHU TaKIUM DTHIHAIIN

dividends from investments — capmosutapaan onuHagMrad GOU3NIN ACBUICHT
territorial system of tax — xyayauii COJUK TU3UMU

liable to tax — comukka TopTHIaAUTaH

simplify income taxes — napoma COJIMFUHM COAIATAIITHPMOK

end of the taxyear — conuk (MoJHsI) HHIIMHUHT OXUPH

calculation of taxable income — conukka TopTHIaAMran JapoMaIHu XHUCOOJ Al
additional tax levy — xymmMua oMK HUFULI

fixed tax allowances — GeiruaaHran COJUMK UMTHE3IApH

entirely — Tymuk, TynakoHm

annually — finmmmk

band — ky1am, kKaMmpoB

iImmediate — 6eBocuTa

earnings — uiad TOMUIraH XaK

Ex.1. Answer the following questions according to the text “Income Taxes”.

. What did you learn about income tax in the first lines of the text?

. What usually happens before tax is payable?

. How is tax levied as income rises up?

. What is marginal rate and why is it important?

. How have governments tried to simplify income taxes?

. What is a modern trend in taxation?

. What is the basic qualitative difference in what income is liable to tax?
8. What is global approach to taxation?

9. What is a territorial system of tax?

10. What are the advantages of PAYE?

11. When can’t the PAYE system operate?

12. What advantage has income tax over local tax property, sales or flat-rate head
tax?

~No ok~ W N
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Ex.2. Find English equivalents of the following Uzbek words and word-
combinations in the text and try to make up your own sentences with them.

napomaj  COJIUFM; OUp KAaTOop HMMTHUENIApHM  OEITHIaMOK;  COJIMKKA
TOPTHWJIMANIUTaH JapoMajl MaOJarIapuHU aXpaThuO KYWMMOK; COJMK Oapdya IKajani
VHAUPUJIAIAW; JapoMaj] COJUFUHHM YETHPUMCH3 OJIMOK; OWUp XHWJ CTaBKa Oyinmda
COJIMKKA TOPTMOK; OMJIBOCHTA COJIMKJIApAaH 0307 OYIMOK; COJMKKA TOPTHUJIAAUTaH
Japomajl; COJUK OpraHjiapd XOJMMIIapW; OJIMHTaH JapoMaJlapHU JeKJIapalus
KWIMOK;, O(uiop XyAyld; COJMUK JICKJIAPAlUICUHH TaKAUM OTMOK; COTHJITaH
MaxcyJoTiapAaH OJIMHAJUTaH COJIUK

Ex.3. Find the words and word-combinations from the text which express the
following meaning.

- easily seen or understood, clear

- increasing continuously

- an amount which is allowed or given
- riches, property

- including everything, whole

- ageneral direction, a tendency

- things that are bought and sold

- something that one must necessarily have
- make a complete statement of income
- take away

- have a result on

Ex.4. Match up the synonyms in two column.

main, liable to, regard, appear, devise, impose, entire, financial year, salary, skill,
deduct, every year;
total, consider, basic, develop, subject to, originate, levy, efficiency, annually, take
away, tax year, wages

Ex.5. Write down antonyms of the following words from the text.

tax-free; progressive; global approach; flat rate; decreasing; disadvantage; the
lowest earners; to make complex; direct; obligatory; luxury; unpopular; advantages

Ex.6. Paraphrase the sentences in accordance with the text.
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1. Income taxes are the most obvious taxes that individuals pay.

2. The governments take the lowest earners out of tax equation altogether.

3. Indirect taxes are generally optional.

4. The USA, the UK and the most advanced industrialized countries have global
systems of taxation.

5. The chief advantage of PAYE is its efficiency.

6. Income tax is most directly related to ability to pay.

7. In most countries the income tax is progressive.

8. The government fixes a series of allowances.

Ex.7. Choose the right preposition and make up sentences with the following
word-combinations.

to pay tax on/from/in income

to levy taxes at/with/into one rate

to make allowance on/for/onto a taxation
to tax smb. after/on/with the total

to be liable at/through/to tax

to be available to/for/ into people

Ex.8. Complete the sentences with the appropriate words from the box.

income investments flat-rate head tax savings
allowances regressive additional tax collectors
lump sum particular increasing obvious, marginal
1. ....1s only taxed in the country when it is transferred there.

2. An individual may have .... offshore, or dividends from .... .
3. The income becomes liable to tax in that ..... financial year.
4. PAYE has been adopted by an .... number of countries.

5. Employers effectively become unpaid .... .

6. Some workers may have difficulty in finding a .... once a year.
7. A ....1s levied on earners and non-earners alike.

8. This tax in contrast to progressive income tax, is ..... .

9. Taxes on income are the ..... taxes.

10. Tax-payers often have some .... fixed by the state.

11. An .... tax is levied after the end of the financial year.

12. The highest rate paid by an individuals is called a ..... rate.
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Ex.9. Read the sentences and translate into Uzbek. Identify italicized words
what parts of speech they are, how is it called this kind of word formation?
. Money is also raised from the issue of government securities.
. Countries issue government bonds to collect money for communal projects.
. The tax burden on the individual in most Western countries seems to have fallen.
. Governments burden on the individuals with new forms of taxes.
. The level of taxation may rise.
. The rise of the tax rates caused a lot of criticism.
. Other transfers of capital may be subject to tax.

. If an individual transfers his/her income from those savings in the country in
question it becomes liable to tax in that financial year.
9. Some countries have taken a different approach.
10. We can easily approach the solution of this problem.

0O NOo Ol WD B

Ex.10. Complete the space with “better”, “more”, “less”, “worse”, “fewer”.

1. I’ve got some money. I’ve got .... than you have, but still not enough. 2. The
tax regime was bad, but the new one is .... . 3. This communal project is good, but
that one is .... 4. Have you got much money? No, I have .... than you have. 5. Have
you got many individuals and companies subject to tax? No, we have .... than you
have. 6. Have you got any taxes on spending? Yes, we’ve got some. We’ve got ...
than you have.

* What’s what in tax and taxation
Match each word on the left with the correct definition on the right.

1. tax a. part of income which subject to tax

2. levy b. level, fixed percentage, interest

3. tax collection c. money comes from tax and taxation

4. tax revenue d. fixed sums of money people have to
pay specific items, transactions

5. tax portion e. the act of getting tax due from tax
payers by tax authorities

6. tax rate f. a payment of money that people have

to pay to the government to provide
public services

7. tax burden g. when you do not have to pay tax

8. tax cuts h. the amount of money to which a tax
payer is responsible for paying taxes

9. taxation I. when you pay less taxes because of
reductions in tax rate

10. taxable J. the system of imposing and collecting
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money by a government

11. tax free k. the government body which is
responsible for the implementation of the
tax law

12. tax loophole I. an income on which you have to pay
tax

13. tax authorities m. a legal method which allows a tax
payer to pay the smallest amount of tax
because of mistakes in the law

¢ Read and translate the text “International Measurement of Personal Income
Taxes” and answer the questions: Where does British system of personal
taxation differ most from the other countries?

TEXT
INTERNATIONAL MEASUREMENT OF PERSONAL INCOME TAXES

International comparative analysis of taxation is very complex. This is
particularly true of the measurement of tax burden. Every major characteristic of
personal income tax varies in each country. Exemptions, allowances and deductions
are all treated differently. Moreover many concessions and transfers of tax payments
can radically change the amount of net income. Nevertheless it is important to draw
some conclusions from data dealing with the characteristic of personal income tax.

The most important variable factor in taxable income is the treatment of
personal situation. In all five countries some tax differential is allowed to a married
person usually in the form of a greater allowance than that given to a single person.
Moreover, each country also gives greater exemptions for tax payers with children
(although France has a different method of doing it). However, all the other countries
except the UK have more tax advantages for people with families, by using the
“income splitting” method of assessment (USA and Germany) or the “family unit”
system as in France. Income splitting means that the total income of a couple
(whether earned by husband or wife or both) is split in half, and is taxed, as if each
were a separate income. Because of the progressive nature of tax rates, this results in
a smaller overall tax liability than for single person.

In France the taxable income is split into a number of parts according to the
situation and size of the tax payer’s family. In Sweden both husband and wife’s
earned incomes are treated separately for tax.

In this aspect of personal taxation the British system of joint liability differs
most radically from the other countries. The penalizing of married people in the
upper income ranges, by very heavy tax on the wife’s earnings is wrong. It has a
discouraging effect on the willingness of married women to work when this results in
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the surtax range for the married couple. The resulting damage to the nation’s
economy is big.

In all the five countries the size of personal exemptions is similar (except in
France where no such comparison is possible). But when tax becomes payable, it is at
a higher rate (30 per cent) in Britain than elsewhere. At the other end of the scale the
maximum marginal rate in the UK is well above the other countries particularly when
taking into account the effect of income-splitting in the US, and the greater avoidance
in France and perhaps Germany too. (from “Britain’s Taxes. Some International
Comparisons”)

Vocabulary list you may need

comparative — kuécwii radically - Ty6nan

analysis — Taxyr net - cod

measurement — yr4oB differential - papku

major — acocui splitting — kucmuapra axpaTuii
characteristic — taBcud assessment - 6GaxoJai

personal — maxcuit unit — Oupiuk, 6ynak

vary — gapk KHIMOK joint — ky1imMa, XaMKOpJIMKIAaru
variable — y3rapysuan penalizing - émoHmammox
exemption — coauKaad 0307 surtax — kymum4da gapomMaj COJIUFU
treat — TaTOMK KUIIMOK, damage - 3apap

concession — yerupmMa scale - mkana

transfer —axxparma well above — anua roxkopu

Ex.1.Translate the following words and word-combinations into Uzbek and try
to make up sentence with them in English.

particularly when, taxable income, personal exemptions, tax advantages, to result in,
to be treated separately, become payable, maximum marginal rate, income ranges, tax
payments, nation’s economy, separate income, liability

Ex.2. Identify that which English and Uzbek words and word-combinations
matches each other in the list.

tax burden, income splitting, a discouraging effect, family unit, overall,
according to, the upper income range, wife’s earnings, become payable, elsewhere, to
be split in half, to differ radically, to be similar, the surtax range, to be well above

JAPOMAJIHUHT KUCMJIapra OYJIMHUILIM, OWJIAHUHT OWp OYTYHJIMIH, COJMK IOKH,
cayiOuil TabCUp, YMYMHM, KEHI' KaMpOBJIM, TYJaHAAUTaH, UKKA OVIaKka OYIMHUIIH,
TypMyll VPTOFMHUHI MAaoOlIM, siHa Kaepaaaup, TyonaH (apk KWIMOK, KylIumya
JapoMa/Jl COJIMFUHUHT IIKAJIACH, IIyHra MyBO(HK, JapOMAJHUHT IOKOPUIIUTH, ailiHaH
OYIMOK, aHYa FOKOPH
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